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������ 2. � � ���������%, $� �)� �� )#�� �&�� ���& �$ +� �# ������� 0,40 % , � �)�
�� )#�� & � )������� +� �# ������� 0,30 % . ��%)� %� � � ���% � �, �)� �� � )#��%
�&�� )������ � �&�� ���& �$? 

������ 3.  ��(��� �� ��� �!,!%��)� ABCD � 128 cm2. ��$)��� M, N, P � Q ��
���&��� �!�� ���� �� ����$)��� BC, DC, AM � MN. 
������� %�(��� �� ���!,!%��)
PQN. 

������ 4. ��&���, ��� �!+�*)� ��  %�&, # �%�$� � ����� �� �
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$�-� � &�����!� �� &!���� 6 �� � ����� ��� �#$)� %�& � .���� �� ��� �!,!%��
����%�%�����& � ������� 0,45 &�, 2,4 �� � 33 ��. ��%)� ���������� +� �!&� �� ���
��  �&���  $�-��� �%�& ������� ����� �� ����� ����� �#$)� %�&? ��$��%������
����� ��� � ��$���� 0,01, )��� �������� ���*���� 3,14 �� π . 
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